PZ3-II-1 technical drawing

Disk key 4x5
23
Q
AN
o Gl oy <
~N
9 @ = + B
. = . 3
E ]
7N
8
12| 16_[8 A
B
2
. )
Tl (
!
- o
1 - 1:10 shaft taper /‘”
2 - shaft splined 18x1,25x10b acc.to PN-69/M-85010 }
16 18
Seometric Dimmension Port flange 1S0/DIS 6162 Por nread 21 | Port flange 150/015 6162
displacement| Pump designation A e lw Inlet Outlet
cem/rot D | ot | e | &2 | « c D | dxt | el [e2
PZ3-4/20~-x-111
95 | 13 | M8x17 | 38.1| 175 13 | M8x17 | 38.1 |17.5
¢ R s o
4 /20—x=
PZ3-4/20-x-214 97 M20x1.5 | M20x1.5
PZ3-6.3/20-x—111
95 | 19 |M10x18 | 47.6 | 22.2 13 | M8x17 | 38.1 |17.5
6.3 PZ3—6.3/20—X—21 1 57 11141
P73-6.3/20-x—114
PZ3-6.3/20-x-214 97 M27x2 | M22x1.5
PZ3-10/20-x—111
95 | 19 |M10x18 | 47.6 | 22.2 13 | M8x17 | 38.1 |17.5
10 PZ3—10/20—X—211 59.31120.6
PZ3-10/20—x—114
PZ3-12.5/16-x—111
95 | 25 |M10x18 | 52 | 26.2 19 | M10x18 | 47.6 | 222
12.5 P23—12.5/16—X—211 6151125
PZ3-125/16-x—114
PZ3-12.5/16-x-214 97 M33x2 | M27x2

x—direction of rotation (1-counter clockwise; 2—clockwise)



